Modeling Functions--Working Backward 10 find Initai Value (y-intercept)
Big 1dea: Initial Value can be found by tollowing the rate of change (slope) backward.
Example: Y

A planc is descending 15 feet a second. After 18 seconds it Y270
is at an elevation ol 4000 feet.

a. Sketch this situation.

b. What is the rate of change? ;lE“FCe'}‘/SeG

¢. What elevation did the plane start at?
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d. Write an equation that models this the g gt ' A 7t 1§ ’
relationship between the elevation. e, of N e ' '
the plane and the number of seconds. s. |8 p .4

e=-15n+ 4270



